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3 A4r Impedance %Zsi=0.244+71.096
944 Impedance %Zs=0.34+j2.065

= "a‘ Impedance %2, =0.083-0.6006
¥ el7] Impedance
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100MVA #H4F impedance=
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3

YA % (0,434+9,283)

=14 46673094333
0%
100X 1000
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webA] Total A4 Impedances
Z=147987+7311.9939%
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"7 100 % 1000 :
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GTR2] Tmpedances antlgkaus

Ze=42[ 0 ) W7 ZTR
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63.1550-i62.9998+
1,43, 1 /— a
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X
2% (9,725+]4,375+0_7163+jl5.1005) /3
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_—-|- — . o= — ) (- =y —
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e ——— X
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T 2T+ 7
5XE, =2508[A]
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ol A FE 2657[KV]
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AFEE ThES ol A4 A

A A A L (Rated voltage)
26, 75KV o] AF
=2 A| A ¢+ Critical operation voltage) :
26.75x 2=3783KVol4
A 2rA 9 (Residual voltage):
125 x 08 =100KV
2 A 4R A & (Normal discharge current):
5/10KA
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